Writing an equation of a line from a table...

Given Information

Find slope

Find b
y=mx+bORUsey-y, =m(X-Xx)

Write equation in
slope-intercept form

y=mx+b

X

-1 3
1 1
2 0
3 -1
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Writing an equation of a line from two ordered pairs...

Given Find slope M =y, - V, Find the y-intercept Write equation in
Information X; _ )21 Usey = mx + b OR slope-intercept form
Use two ordered pairs Usey - Y = mM(X - Xq) y=mx+b
(X4, Y1) (X1, ¥2)
Use the slope and an ordered pair
(2, 3)

(1,-1)

Writing an equation of a line from two ordered pairs...

Given Find slope M =y, -V, Find the y-intercept Write equation in
Information X; _ )21 Usey = mx + b OR slope-intercept form
Use two ordered pairs | Use Yy - Y; = M(X - X4) y=mx+b
(X‘l! y1) (X1, y2)
Use the slope and an ordered pair
(2,3)

(1,-1)







